10
10

10-1-1



- \-19

1060

710

~

\ g (oK) 690

L=225m

VAR L=150m

10-1-2




— ;rv\v@,mxx e

|
. |
&=| |
|
O e A ————
_
|
|
| ]|
i SNl
RO e
i ._
o R
I

100

1.5m

cm

3.2mm

#10

10mm

t

kg

kg

60

60
30
150
266.67

30
50
9.53

10-1-3



10

2.0m

1.5

L=1.2m

5.0

10-2-1



(10T : )

i =

1]

T AN

Bk {80 = TEWIT E
ik LB TEWIT R

REATH (RN - Sk

10-2-2

Wk {gB0= WRIT RN

=
TR U 100k WIsH I

MIZE b R R AR

i 00 WRL 45

A&

PRHE (- AR T
Lo by

iR L
| S N T

A0 - BOENETAL
SR LS T RN



WP 200

1.2 >< 2.0m

10

WP 200

10.00

0.44

6.00

4.9t

0.25

10

1.00

1.00

100mm

1.00

0.20

1.00 1.30

10-2-3




10

'y !I
N

e T
o A A T
,’/Z"i;ﬁfﬂfl};'_

illlll
I!III
iiii |

.k%iill'_* [ Y

e i

10-3-1



1.2m 0.6m
(Hidk < m)
EfE
— 110 110 (A _‘_Hﬂu_
I I | I I|' I ) I -f' o E
T T
! Juy il o1 il
/ / v
i Wam B 206m \nm
[TT T A (Ebr2) F6~Sn L= |8
iR AR R

il

A
R

il

R 2

10-3-2

d — Sy
RALL GHA b E)

10

b f Likigele~g
o
L0
120
R
010
e
L
L]




(100

H=60cm L=120cm 91.00
1.8m 91.00
2.00
6.60
2.00
100 m
m
(100
91.0 1.1m
6 9cm L=1.8m
1.2m 0.6m
9 12cm
120cm 91.0
10 13cm
60cm
14 8 | 152 | kg (4.0 <91 > 1.0m
> 41.7kg  1,000m 15.18kg
W3 8 125mm | 182.0

10-3-3




10

10-4-1



11cm L=1.8m 3 8

GV m)

Lszyy_q« w0 E . . —[ _

10-4-2



fiE=

008
B B 3
o] bl ||
e he |
x==1 o
| |
ﬁ_ — = | m~ |
g m_ | o % |
_ = ) _
7 W (1 +rimee frammr N W_i
2] -
7 7 m.-.-..,m..wu _..mm
oy B B |
=) 7
O |

5 e i F —

BT

\ |'lljﬂ]ﬂ

10

10.00
0.17
0.34
0.17

14cm
10-4-3

4.9t

@ 10

1.8m >< 0.5m

50




